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(A HT-Y)

£ £ ™ 4 1 25.0 5 2 40.0
W ARH 6 4 66.7 11 6 545
A = If @7 1 0 0.0 2 0 0.0
B B H 1 1 100.0 2 2 100.0
BHh 9 9 100.0 16 16 100.0
7 B A 6 4 66.7 11 6 54.5
B B H 1 1 100.0 1 1 100.0
JII #% HT 1 0 0.0 1 0 0.0
% B ™ 15 7 46.7 30 12 40.0
g L ™ 5 4 80.0 10 5 50.0
3 [l 15 8 53.3 30 10 33.3
w R W 13 6 46.2 29 7 24.1
%2 = Hr 2 0 0.0 3 0 0.0
B %0 HT 5 2 40.0 11 4 36.4
X & 1 0 0.0 2 0 0.0
# B 8 1 125 15 1 6.7
B P HUILE - - - - -
s EBE h 2 0 0.0 6 0 0.0
E W H 5 1 20.0 10 1 10.0
E £ #r 1 0 0.0 2 0 0.0
HERBR YUILE - - - - -
X #& Hr 1 1 100.0 2 1 50.0
B 8 ™ 20 15 75.0 37 24 64.9
% %k H 6 4 66.7 13 7 53.8
E B ™ 1 1 100.0 4 4 100.0
£ dt Hr 1 1 100.0 1 1 100.0
ARE B W 1 1 100.0 1 1 100.0
#® E B HUILE - - - - —
2 x B HUILE g - - - -

131 72 55.0 255 111 435
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